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Time:3 hrs.

la.

b.

2a.

Draw an equivalent mecham
Fie. Ql (b).

)pen loop and closedr,loop control system. Mention
and closed loop contrukystem. (08 Marks)

vork using forc%,r.rEgltage analogy as shown in
v" (08 Marks)
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Note: Answer any FIVE fuA qdA*$frts irrespective of mo.dvldx
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With the help of neat diagram, de

any four differences between
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For a mechanical transliliuiun system as sho--wn in Fig. Q2 (a). Drilr'the electrical network
based on torque curreni'ilialogy. Write itgpp&rmance equation. r* 
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a. Defrne the vaffis types of system compensation with block diagrams. (08 Marks)

b. Define controlldi and derive proportional controller with advantages and disadvantages.
. (08 Marks)
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